Lesson 5.1 November 04, 2011

Bellwork
11/04/2011

For the following problems, use A(0,10), B(24,0), and C(0,0).

1. Find AB. - AR =b
JGu-oy w00y ={b7b = Ab

2. Find the midpoint of AB.
(13,%)

3. Find the slope of AB.
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Geometry
5.1 Midsegment Theorem
Standard(s): 3,7

Vocabulary:

1. Midsegment of a Triangle: A segment that connects the
midpoints of two sides of the triangle.

- THEOREM For Your Notebook

THEOREM 5.1 Midsegment Theorem B

The segment connecting the midpoints
of two sides of a triangle is parallel to the
third side and is half as long as that side. A

Proof: Example 5, p. 297; Ex. 41, p. 300 Eéﬁa:ﬁﬂfz ;Ac
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Use the Midsegment Theorem to Find Lengths

DEis a midsegment of AABC. Find the value of x.

(7 =y
x=14
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Use the Midsegment Theorem

In ADEF, EJ=JF, FK=KD, and DG=GE. Complete each
statement.

GJ||DE

E)-SE-CK
DE || 3K
GI-PK _KF
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Find Side Lengths Using Midsegment Theorem

Use the diagram of AXYZ, where U, V, and W are midpoints of the
sides.

If UW=4x-1 and YZ=5x+4, what is UWN?

W)= Sxay (Y-

§x -2= _
Find YV. ! %X§Z+u UW =/

Ny=7 *74
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Apply Variable Coordinates "

Find the coordinates of the red points in the figure. Then show the
given statement is true.
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slope of HE = —(slope of DG)
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Homework Assignment

Worksheet 5.1B
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